restart
> Ecua = (x4-10g(x) —2'x-y3) +3-x2-y2-y'=0
Ecua = x* In(x) —2xy()c)3 -l—3x2y(x)2 (— y(x)) =0

with(DEtools) :
with(linalg) :
with( plots) :
with(inttrans) :
with(PDEtools) -

odeadvisor(Ecua)
[ Bernoulli]

FI == intfactor(Ecua)

M := x4ln(x) —2xy3
N = 3xzy2

MM = expand(FI-M)
NN = FI-N

3
EcuaDos = In(x) — 2y(3x) + 3 y(x) -diff (v(x),x) =0
X X

EcuaDos =In(x) — 2y(3x) + =0
X X

odeadvisor(EcuaDos)
[ _exact, Bernoulli]

IMMx = int(MM, x)

INNy := int(NN, y)

SolGralTres == INNy + int( (MM — diff (INNy, x)),x) = CI
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3
SolGralTres =xIn(x) —x + Lz = (I
X

3
> SolGralDos ‘= xIn(x) —x + ‘@ = CI

X

3
SolGralDos = xIn(x) —x + (&2) = CI
X
> DerEcua := expand(isolate( Ecua, diff (y(x),x)))
2
DerEcua .= — y(x) = L xln—(z) + 2 yx)
dx 3 yx) 3 x
> DerSolGralDos = expand isolate(diff (SolGralDos, x), diff (y(x), x)))
2
DerSolGralDos := a4 y(x)=- 1 xln(x) + 2 yx)
dx 3 y(x)2 3 x

> Comprobar := simplify(rhs(DerEcua) — rhs(DerSolGralDos)) =0
Comprobar :=0=0

> restart

> Ecua = y'+2-x-y=2-x-exp( —xz)

Ecua = % y(x) +2xy(x) =2xe_)‘2
> pi=2x
p=2x
> q :=2-x-exp(—x2)
_ -2
qg=2xe

> SolGral = y(x) = _Cl-exp(int(-p,x)) +exp(int( -p, x)) -int(exp(int(p, x))-q, x)
SolGral =y(x) = _CI e_)cz + e_x2 ?

> SolGralDos = dsolve(Ecua)
SolGralDos == y(x) = (x2 + ClI)e

> Comprobar = simplify(eval(subs(y(x) =rhs(SolGral), lhs(Ecua) — rhs(Ecua) =0)))
Comprobar :=0=0
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